€8'78ZTS

1e3nsay

00°0008€ 121y18pn apa|wes

€8'78768 J918=e1pUl apajwes
00°0000€ 9peJWo U3 (13 INYS

00°000€ J121y18pn 21584 ‘AIQ

00°000S Jo1uswadueny

00°000TZ juasunuoy|
€8'78789 T20Z-020T B4} WaLIan0

J913=e1pu;  12118pN

720Z-1z0Z 198pnq |1 Sejsio4

08'v70SET PNYSIAAQ SI21Y
00°0002¢ 13182e3pul apajwes
0Z's6v8 J2118pn apajwes

00°000T ?) 6T0Z 3uaduiuoy je Suljelagpul

00°000TZ (00SxzY) 493uasunuoy
00°00€ (G£xv) 4121Ag29
£8'78789
GL'€ETy  0oyagasse)
80'T/8’ L9 O1UOjURY 8
T anuwog .
9
——— m
£8'78789 00°0S9T (0STXTT) Bulug|ss=io ¢
000 dJUBIBHIA 07'88 aquay ¢ 1Z0T'€0'TE
08'VOSET 19AQ 11y 00'€6v wo'3uQ 7 1202°€0°92
€0°08LYS 14 WBHIAQ 007965 aneS1uaApY T 020Z°Z1°8T

120Z-0Z0T gedjsuday





